P1334SN/CH

|

F2985/6SN/CH

I\

F2987/9SN/CH

F2984/4SN/CH

F2986/8SN/CH

———

11/24,2015 Rev: 1

Jonah conﬂctiﬂn [3“19] Replacement Parts

All New Replacement Parts:

Part Number Description Used On
CKA119 Canopy Kit, including canopy(¢5 1/2"), Mtg bar(1/8—27UNF), hex nut(2), RTN, screw collar(#23MM), Swivel(1/8—27UNF) F2984/4SN/CH, P1334SN/CH
CKB119 Canopy Kit, including canopy(¢5 1/2"), Mtg bar(1/4—18UNF), hex nut(2), RTN, screw collar(#23MM), Swivel(1/4—18UNF) F2985/6SN/CH, F2987/9SN/CH
CKC119 Canopy Kit, including canopy(85 1/2" W, 16" L), Swivel(1/4-—18UNF,2PS)S). mounting plate(5/32—-32UNF), screw F2986,/85N/CH
(5/32-32unf, 4PCS), hex nut(1/8IP, 2PCS), lockwashr(1/8IP,2PCS), feinforce plate, wooden screw(4), plastic bolt(4)
GLA119 Glass,#3—1/8", with 7—1/8" height F2984/4SN/CH, F2985/6SN/CH, F2986/8SN/CH, F2987/9SN/CH
GLB119 Glass,#2-3/8", with 6—1/2" height F2984/4SN/CH, F2985/6SN/CH, F2986/8SN/CH, F2987/9SN/CH
GLC119 Glass,#4—-3/8", with 8—1/4" height P1334SN/CH
GLD119 Glass,#3—1/2", with 7-5/8" height P1334SN/CH

Part number & detail:

/CKM 19 /CKC1 19

/CKB1 19

GLA1 19—\ GLB119

GLD119

GLC1 19—\

FEISS

EST. 1955
www.feiss.com




